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1.9635 0.942478
3.06796 2.120575
l,(10%cm?) 3.06796 0.23562
J(10em*) 1.21503 0.09414
l,,(107%cm®) 3.07048 0.35186
Oy, (10~ Cm°) 3.13251 0.35265
1.0 0.11311
1.98019 0.22197
0.505416 0.747525
a=-*5,p y=oe
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B. W %4 475
Z
Ly
#
I ]
!
d y
-
b
%ﬂvgb' \Z%’rﬁi: .
top flange
; f ~0.5b<y<0.5b
mo=y@-dit) JOMYEG ot )<z<0.50
web

—0.5t, <y<0.5t,
=Yz for{_0,5(0| ~2t;)<z<0.5(d - 2ty)
bottom flange
—~0.5b<y<0.5b

w=-Y(Z+d-t;) for{_o_sdszs—O.S(d—th)

%%, b%,°  (h-t;)%,]
_ — +

a
ayz 24 72 144

(K.6)
AEEE P AW A TG § xR #5 F BOE T a,, (L
(K.6)5%)» H & & %34 AISC #73x Manual of Steel Construction [29] > =
A4 %R = 2 W B A AT
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A4 %75 |\W14x159| W14x90 |W10x100| W10x60 | W10x30
d(in) 14.98 14.02 11.1 10.22 10.47
b(in) 15.565 | 14.52 10.34 10.08 5.81
ty(in) 1.19 0.71 1.12 0.68 0.51
tw(in) 0.745 0.44 0.68 0.37 0.3
AGin®) | 46.7 26.5 29.4 17.6 8.84

1,(20%In%) | 1g 0999 | 0623 | 0341 | 0.170

,(10%in*) | 0,748 0.362 0.207 0.116 0.0167
J(in) 19.8 4,06 10.9 2.48 0.62

l,(10%in®) 3.56 1.6 0.515 0.264 0.0414

0, (10%N°) | 35462 | 16027 | 06115 | 0.2636 | 0.0413

a 0.3937 | 0.3624 | 0.3323 | 0.3402 | 0.0982

B107?) 0.4025 | 0.1570 | 0.6757 | 0.2809 | 0.1409
y(10%) 0.4655 | 1.0204 | 0.1223 | 0.2756 | 0.1729

e

N W

E = 29000ksi G =11200ksi




L ] L B R AR E iR R b4 2 4
beBle w2 A F b RSP (T [ g Rl g s T A
= [30]

2
T El
Pcr:% (L.1)
L
S PP Iy'f“"lz ¢ ﬁ‘J'ﬁ
4 BIT ST L RAE s B4 P AT B i Ay s A
7+ = [30]

2
%=iﬂy- (L2)
AL

2 | min p Iy'f""lz ¢ ﬁL'J"ﬁ
Fh 2 G B4 P e B o a3 Rl ol dadh 4 T 4 5 5 [30]

Ar%El
PCI' :Tmm (L3)

S P ny""lz ¢ ﬁ"'J;F}lz
4o( L) 2 ] £ 3 s R4 P 6% B o 33 3 Ay ot 7
%7 % [9]

% #(0)=¢(L)=0,¢'(0)=¢'(L)=0

=T%C+Q££0 (L.4)
0
% #(0)=¢(L)=0,4"(0)=¢"(L)=0
2
%:?@+Qzﬂ (L.5)
0 L
29 lg=1I,+1,, C=G) , C,=EI,
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ek ¢ #RiEE 5 BCL2 BC3I M2 Pyt 5 (LA

2 Py 5 (L.5)3

% BC2 2 BC4

X
L4y
|
|
|
1 L
=gl
|
7 Z
Y/
(B L.1)

4o(Bl L.2)#7m 2. i £ 22X 3lghd PR AIBS ST pF o H M HA SE

MG A7 & 7 % [31]

M ) P P P
—o =l - ST - (L6)
MCI’, Pycr ZCr ¢
p-F (L.7)
PCI’
7El
MOA =c, Y Jap V1+K? (L.8)
koL
C, =1.75+1.051 +0.34% <2.56 (L.9)
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y
M ‘ M
P <// ) X
| (1 L.2)
58P By =Min(Py,, Pyy) 5 3 W% phd prenipw By bt o Py 2 Py A
Bl 52 A X XgE X Xo T hipl e 4 Ay ph 4 (L)) o Ky, ko= % #cA o &

2ARERGFEE L LR EE Rt B0 HiEdeT &

Ky K, it e
0.883  0.492 M3 (O =Mz(L)=0 , B(0)=p(L)=0
1.000 1.000 MS(0)=M$(L)=0 , B(0)=B(L)=0
0492 0492 ¢5(0)=¢5(L)=0 , B(0)=p(L)=0
0434  1.000 #5(0)=¢5(L)=0 , B(0)=B(L)=0

SRR 2 Byt G Lirdlasd o 21 pd 2 QT &
ST Al et 4 (5% pF > H M4 Ay $0 4B che 2 12 5 [31]

QT 3=

M, =%\/aﬂ J1+ 72 /412 (L.10)
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(L.11)

(L.12)



